il % B ## £ X = B
AL REAEL REK AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A

B T # 3,588 3,600 -12 1,517 1,550 -33 42.3 43.1 -0.8 26 29 -3 25 27 -2 96.2 93.1 31
[z th bl 1,806 1,749 57 654 652 2 36.2 37.3 -11 13 11 2 11 11 84.6 100.0 -15.4

S b 1,072 1,019 53 377 380 -3 35.2 373 -2.1 5 5 4 5 -1 80.0 100.0 -20.0

YL HK 239 248 -9 82 86 -4 34.3 34.7 -0.4 3 1 2 2 1 1 66.7 100.0 -33.3

)b EK 136 121 15 54 58 -4 39.7 47.9 -8.2 - -

YHLEK 359 361 -2 141 128 13 39.3 355 3.8 5 5 5 5 100.0 100.0
B # L 861 1,020 -159 371 454 -83 43.1 44.5 -1.4 3 5 -2 3 5 -2 100.0 100.0
= th bl 140 146 -6 95 82 13 67.9 56.2 11.7 1 1 1 1 100.0 - 100.0
= % bl 90 65 25 36 28 8 40.0 43.1 -3.1 1 1 2 2 200.0 - 200.0
kv fiE) bl 84 55 29 32 20 12 38.1 36.4 1.7 1 1 1 1 100.0 100.0
H# R bl 55 28 27 33 15 18 60.0 53.6 6.4 1 1 1 1 100.0 - 100.0
8 #t Ll 83 74 9 42 30 12 50.6 40.5 10.1 - -
= R L 20 23 -3 9 16 -7 45.0 69.6 -24.6 - -
# ) Ll 22 26 -4 10 13 -3 455 50.0 -4.5 - -
& A1 L 45 47 -2 31 33 -2 68.9 70.2 -1.3 1 2 -1 1 1 100.0 100.0
SR ) 57 59 -2 21 24 -3 36.8 40.7 -3.9 1 1 1 1 100.0 100.0
U & bl 56 44 12 34 17 17 60.7 38.6 22.1 1 -1 1 -1 - 100.0 -100.0
= BE bl 45 39 6 32 20 12 71.1 51.3 19.8 1 -1 1 -1 - 100.0 -100.0
=S 1E L 23 37 -14 14 22 -8 60.9 59.5 1.4 - -
= = bl 58 38 20 29 18 11 50.0 47.4 2.6 1 2 -1 1 2 -1 100.0 100.0
AR A S AT 17 27 -10 7 11 -4 41.2 40.7 0.5 1 1 1 1 100.0 - 100.0
WERME S AT 19 20 -1 6 13 -7 31.6 65.0 -33.4 2 -2 2 -2 - 100.0 -100.0
% H AR 2 E ET 16 11 5 12 6 6 75.0 54.5 20.5 1 -1 1 -1 - 100.0 -100.0
/)N BB & B HY 12 14 -2 10 9 1 83.3 64.3 19.0 1 -1 1 -1 - 100.0 -100.0
B RE R E N - - - -
& M AR 37 2F A7 7 9 -2 4 3 1 57.1 333 23.8 - -
f5 FB AR B o8 T 10 9 1 5 5 50.0 55.6 -5.6 - -
F5 H AR % & AT 6 6 3 3 50.0 |- 50.0 - -
EHEBAEEN 2 -2 1 -1 (- 50.0 -50.0 - -
AKEBAKFGHT 1 1 2 2 200.0 200.0 - -
A K BB 3 K HT 7 11 -4 5 6 -1 71.4 54.5 16.9 - -
PNEER & i o R AT 5 12 -7 4 3 1 80.0 25.0 55.0 1 1 1 1 100.0 100.0
~H - BAE 43 34 9 16 49 -33 37.2 144.1 -106.9 1 1 1 1 100.0 - 100.0




1 £ B % &= B
AL REAEL REK AL REAEL REEK
SFI6E | HAMGE | R | HF6FE | HASE | MEEL | HH6F | HFSE | | HMEFE | HISFE | ER | HM6E | HMEFE | EE | HH6E | HMSE | A
B F O# % 311 362 -51 298 336 -38 95.8 92.8 3.0 2,469 2,545 -76 800 857 -57 32.4 33.7 -1.3
[z th bl 143 146 -3 131 142 -11 91.6 97.3 -5.7 1,304 1,289 15 348 353 -5 26.7 27.4 -0.7
S b 79 76 3 69 76 -7 87.3 100.0 -12.7 783 786 -3 194 217 -23 24.8 27.6 -2.8
YL HK 16 26 -10 15 20 -5 93.8 76.9 16.9 178 181 -3 45 52 -7 25.3 28.7 -3.4
b EREKX 14 14 17 14 3 121.4 100.0 21.4 101 89 12 33 30 3 32.7 33.7 -1.0
YHLEK 34 30 4 30 32 -2 88.2 106.7 -18.5 242 233 9 76 54 22 314 23.2 8.2
B # L 70 109 -39 72 95 -23 102.9 87.2 15.7 617 737 -120 198 292 -94 32.1 39.6 -7.5
= th bl 17 18 -1 18 23 -5 105.9 127.8 -21.9 85 95 -10 43 44 -1 50.6 46.3 4.3
= % bl 7 5 4 3 1 57.1 60.0 -2.9 50 46 4 22 17 5 44.0 37.0 7.0
kv fiE) Ll 10 4 8 3 5 80.0 75.0 5.0 45 42 3 19 14 5 422 33.3 8.9
#* = L 2 2 2 3 -1 100.0 150.0 -50.0 32 17 15 10 9 1 31.3 52.9 -21.6
8 #t bl 6 12 -6 9 11 -2 150.0 91.7 58.3 53 53 23 16 7 43.4 30.2 13.2
= 2 L 1 5 -4 3 -3 60.0 -60.0 11 14 -3 4 8 -4 36.4 57.1 -20.7
# ) Ll 2 3 -1 2 2 100.0 66.7 33.3 15 18 -3 5 7 -2 33.3 389 -5.6
& A L 6 9 -3 4 9 -5 66.7 100.0 -33.3 24 27 -3 18 21 -3 75.0 771.8 -2.8
SR ) 7 5 2 7 6 1 100.0 120.0 -20.0 43 39 4 12 12 279 30.8 -2.9
Vi e bl 9 3 6 9 3 6 100.0 100.0 38 26 12 23 8 15 60.5 30.8 29.7
=1 Bz bl 6 8 -2 5 6 -1 83.3 75.0 8.3 25 23 2 17 11 6 68.0 47.8 20.2
=S 1E L 2 6 -4 4 4 200.0 66.7 133.3 15 21 -6 9 12 -3 60.0 57.1 2.9
= = bl 3 4 -1 5 5 166.7 125.0 41.7 47 24 23 20 6 14 42.6 25.0 17.6
AR A S AT 1 1 2 2 200.0 200.0 10 23 -13 3 8 -5 30.0 34.8 -4.8
WERME S AT 3 4 -1 2 4 -2 66.7 100.0 -33.3 9 7 2 1 4 -3 11.1 57.1 -46.0
% O #B 2 [ A7 4 2 2 4 4 100.0 100.0 9 3 3 2 1 33.3 66.7 -33.4
/)N BB & B HY 5 -5 4 -4 - 80.0 -80.0 8 5 10 3 7 125.0 60.0 65.0
B RE R E N - - - -
& M AR 37 2F A7 1 -1 1 -1 - 100.0 -100.0 5 5 3 1 2 60.0 20.0 40.0
f5 FB AR B o8 T 2 1 1 3 150.0 150.0 5 6 -1 1 4 -3 20.0 66.7 -46.7
F5 H AR % & AT 1 1 2 200.0 - 200.0 3 3 1 1 333 - 333
EHEBAEEN 1 -1 1 -1 - 100.0 -100.0 1 -1 -
AKEBAKFGHT 1 1 1 1 100.0 - 100.0 1 -1 -
A K BB 3 K HT 3 4 -1 2 3 -1 66.7 75.0 -8.3 2 6 -4 2 3 -1 100.0 50.0 50.0
PNEER & i o R AT 1 1 3 10 -7 2 2 66.7 20.0 46.7
~H - BAE 4 3 1 2 5 -3 50.0 166.7 -116.7 11 7 4 3 3 27.3 27.3




N e e & % e
AR TREMER IR AR IREMHER TR
SH6E | HH5E A | S6E | SAI5E R | S6E | SAI5E R | SM6E | SAI5E R | SF6E | HFI6E WE | HF6E | HF5E IR
B T #® O 303 182 121 127 112 15 41.9 61.5 -19.6 63 32 31 54 35 19 85.7 109.4 -23.7
54 (ITI—) 134 71 63 57 39 18 425 54.9 -12.4 24 16 25 16 9 104.2 100.0 4.2
5 bt 71 29 42 39 21 18 54.9 72.4 -17.5 17 8 9 19 8 11 111.8 100.0 11.8
5 bHhX 19 9 10 9 5 4 47.4 55.6 -8.2 2 3 -1 3 2 1 150.0 66.7 83.3
5 bHEK 7 7 2 5 -3 28.6 71.4 -42.8 1 2 -1 3 -3 150.0 | -150.0
SbEKX 37 26 11 7 8 -1 18.9 30.8 -11.9 4 3 1 3 3 75.0 100.0 -25.0
B % b 45 56 -11 24 21 3 53.3 37.5 15.8 23 6 17 20 8 12 87.0 133.3 -46.3
b= TR ) 8 10 -2 4 4 50.0 40.0 10.0 4 2 2 2 2 50.0 100.0 -50.0
E - 16 2 14 1 3 -2 6.3 150.0 | -143.7 - -
£ ® W 20 1 19 2 2 10.0 10.0 1 1 -
F R 0™ 18 6 12 18 1 17 100.0 16.7 83.3 - -
F S ) 5 2 3 1 1 -
m R W 1 -1 1 1 - 100.0 | -100.0 1 -1 1 -1 - 100.0 | -100.0
R W 2 2 2 4 -2 100.0 200.0| -100.0 1 1 1 1 100.0 - 100.0
5 &1 7 7 5 5 71.4 - 71.4 - -
b= I ) 2 3 -1 1 -1 333 -33.3 1 -1 1 -1 - 100.0 | -100.0
~ B W 3 2 1 1 -1 50.0 -50.0 - -
2 E # 6 5 1 2 2 333 40.0 -6.7 5 5 3 3 60.0 - 60.0
£ fF 0wW 4 1 3 1 1 1 1 100.0 - 100.0
b= R 3 2 1 2 1 1 66.7 50.0 16.7 1 1 1 1 100.0 - 100.0
AN KA AT 2 2 1 -1 - - -
HMEME S AT 5 2 3 2 2 40.0 40.0 - -
& O ER Bk |y 1 1 1 1 100.0 - 100.0 3 -3 3 -3 - 100.0 | -100.0
NNy N i) 1 1 - -
& JE AR # A - - - -
o H AR R EF AT 1 1 - - -
5 B #B B S HT 1 1 - - -
f% B AB 5% & A7 1 1 - - -
EHEFEERN - - - -
AKEBAKFGHET - - - -
A K BB 3% K ET 1 1 - -
NS BB 2 o SR T - - 1 1 - -
TEH RN 17 14 3 6 33 -27 35.3 235.7 | -200.4 2 3 -1 4 -4 1333 | -1333




Z fth D il = e
AR TREMER REE
SH6E | HH5E A | S6E | SAI5E R | SF6E | HA6E R
B F O K 416 450 -34 213 183 30 51.2 40.7 10.5
54 (ITI—) 188 216 -28 82 91 -9 43.6 42.1 1.5
PR A 117 115 2 52 53 -1 44.4 46.1 -1.7
5 bHhX 21 28 -7 8 6 2 38.1 21.4 16.7
5 bHEK 13 9 4 2 6 -4 15.4 66.7 -51.3
SbEKX 37 64 -27 20 26 -6 54.1 40.6 135
B % m 103 107 -4 54 33 21 52.4 30.8 21.6
b= TR ) 25 21 27 9 18 108.0 42.9 65.1
E - 16 12 7 5 2 43.8 41.7 2.1
£ ® W 7 7 2 2 28.6 28.6
F R 0™ 2 3 -1 2 2 100.0 66.7 33.3
F S ) 18 7 11 10 3 7 55.6 42.9 12.7
m R W 8 2 6 4 3 1 50.0 150.0 | -100.0
R W 2 3 -1
5 &1 7 9 -2 3 3 42.9 333 9.6
b= I ) 4 10 -6 1 3 -2 25.0 30.0 -5.0
~ B W 6 12 -6 2 4 -2 333 333
2 E W 3 2 1 5 5 166.7 166.7
£ fF 0wW 1 9 -8 6 -6 66.7 -66.7
b= R 3 6 -3 4 -4 66.7 -66.7
R AR AT 3 3 1 2 -1 333 66.7 -334
HMEME S AT 2 5 -3 1 3 -2 50.0 60.0 -10.0
& O ER Bk |y 2 2 4 4 200.0 200.0
NNy N i) 3 2 1 1 -1 50.0 -50.0
& JE AR # A - -
& M AR 8 27 A7 1 3 -2 1 1 100.0 333 66.7
P FH AR B o0 T 2 2 1 1 50.0 50.0
[ HB EB 7% & AT 1 1 -
EHEFEERN - -
AKEBAKFGHET 1 1 - -
A K BB 3% K ET 1 1 1 1 100.0 - 100.0
NS BB 2 o SR T B _
TH - BENE 8 7 1 4 7 -3 50.0 100.0 -50.0




